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Introduction to Linguistics
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Animals and human language:
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Communication: <
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Properties of human language: <+
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Communication:
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We should first distinguish between communicative signals and informative
signals.

Informative Signals

4l glaa ) L)

If someone is listening to you, he /she may be informed about you through a
number of signals that you have not intentionally sent. For example, he /she may
note that you have a cold (you sneezed), that you are not at ease (you shifted
around in your seat), that your are disorganized (non-matching socks).

Jaee cada i al ANl LEY) e d3e A G dlie cali) of /8 40) JB g ) sy (e lia (S 1)
48 jda cu) Cadas A o< Al AN (Codae ) Ba L) ehal ¢ Ay 88 gS) /43 JB g (JUal) Jas o
(s diias p8) dalila @ 4y () gailaliLa (Ol o(inda B

Communicative Signals
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When you use language to tell this person, I’m one of the applicants for the vacant
position of senior brain surgeon at the hospital, you are normally considered to be
intentionally communicating something.
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Properties of human language:

Displacement:
Ay pdal) dall) (ailad
Aal 3y

When your pet cat comes home and stands at your feet calling meow, you are
likely to understand this message as relating to that time and place. If you ask your
cat where it has been and what it was up to, you’ll probably get the same meow
response. Animal communication seems to be designed exclusively for this
moment, here and now. It cannot be used to relate events that are far removed in
time and place.

Humans can refer to past and future time. This property of human language is
called displacement. It allows language users to talk about things and events not
present in the immediate environment. Displacement allows us to talk about
things and places (ogre, Superman) whose existence we cannot even be sure of.
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Properties of human language:

Arbitrariness:

2yl dall) ailad
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There is no natural connection between a linguistic form and its meaning. The
and, from <Sconnection is quite arbitrary. We can’t just look at the Arabic word
its shape, for example, determine that it has a natural and obvious meaning any

more than we can with its English translation form dog. The linguistic form has no
natural or ‘iconic’ relationship with that hairy four-legged barking object out in the
world. This aspect of the relationship between linguistic signs and objects in the
world is described as arbitrariness.
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Productivity:
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Humans are continually creating new expressions by manipulating their linguistic
resources to describe new objects and situations. This property is described as
productivity (or ‘creativity’ or ‘open-endedness’) and essentially means that the
potential number of vocal expressions in any human language is infinite.

The communication systems of other creatures are not like that. Cicadas have four
signals to choose from and vervet monkeys have thirty-six vocal calls. It is not
possible for creatures to produce new signals to communicate. The honeybee,

normally able to communicate the location of a nectar source to other bees, will
fail to do so if the location is really ‘new.’ the bees cannot manipulate its
communication system to create a ‘new’ message including vertical distance
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Cultural transmission:
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The process whereby a language is passed on from one generation to the next is
described as cultural transmission. We inherit physical features such as brown
eyes and dark hair from our parents, we do not inherit their language. We acquire
a language in a culture with other speakers and not from parental genes. An infant
born to Korean parents in Korea, but adopted and brought up from birth by English
speakers in the United States, will have physical characteristics inherited from his
or her natural parents, but will speak English.
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Study questions
ALy zuulb.\
1-What is the difference between formative and communicative signals?

Informative Signals

Someone may be informed about you through a number of signals that you
have not intentionally sent.

Communicative Signals

You are normally considered to be intentionally communicating something.
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3. Is it true that there is no natural connection between a linguistic form
and its meaning?

Yes, it is true.

¢ s sadll Lalina g Apnidall 723 gad (s L) 23 9 ¥ Al e Ja
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4. Is it true that humans cannot create new expressions to describe new
objects and situations?

No, it is not true
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The sounds of language:
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Diphthongs
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Alveolars
Glottalsy Velars ¢
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[ New Chef ]
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‘The sounds of spoken English do not match up, a lot of the time, with letters of
written English’

Y Y
Y Y
Y Y
Y \
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y \
Y |
Y |
Y Y
Y Y
Y \
g 4l A3l 8 Jila ) aa gl cpa il g B laal) Juai ¥ 4B ghatal) 4y julady) Aall) A i gua) )" g
@ Phonetics < e
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y

Greek ‘phone’ = sound or voice

The general study of the characteristics of speech sounds.

<l gl ale
S gpall gh & guall = AU o) ity
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Articulatory phonetics

The study of how speech sounds are made

il gual) 3hail)
A &) gual pdaa AndiS A 40

The sounds of language:

Aall) &) gual

7/

Voiced and voiceless sounds: <¢
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alveolar ridge

l
esophagus
e | ==

larynx (vocal cords)

epiglottis

When the vocal cords (vocal folds) are spread apart, the air from the lungs
passes between them unimpeded. ZZZZZ or VVVVV (vibration)
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Place of articulation: ¢

Bilabials e

Labiodentals e
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Dentals e
Alveolars e
Palatals e
Velars e
Glottals e
Place of articulation: <*
Bilabials: e

These are sounds formed using both upper and lower lips. The first sounds in
the words pat, bat, and mat are all bilabials. They are represented by the
symbols [p], which is voiceless, and [b] and [m], which are voiced.

Labiodentals: e
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@ sounds in of the words fat and vat and the final sounds in the words safe and Q
@ save are labiodentals. They are represented by the symbols [f], which is Q
@ voiceless, and [v], which is voiced. Cough and photo, are both pronounced as 9
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:Labiodentals
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J2 (e Jii %y labiodentals g Bis g ddal Gl Ao duilgdl) <l gual g Adlidaal) Al Ay a9
JF] LS la a8 g 2a o B gl g Jlaad) L s 21 ey ([V]9 cpgd ipa ¥ 98 9 ([F] Jsa

Dentals: o

These are sounds formed with the tongue tip behind the upper front teeth. The
initial sound of thin and the final sound of bath are both voiceless dentals. The
symbol used for this sound is [0]. The voiced dental is represented by the
symbol [0] like the, there, then and thus.

Alveolars: e

These are sounds formed with the front part of the tongue on the alveolar
ridge. The initial sounds in top, dip, sit, zoo and nut are all alveolars. The
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symbols for these sounds are easy to remember [t], [d], [s], [z], [n]. Of these, [t]
and [s] are voiceless whereas [d], [z] and [n] are voiced. Other alveolars are the
[1] sound as in lap and [r] as in right.

:Dentals
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:Alveolars
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Palatals: e

These are sounds formed with the tongue and the hard palate. The initial
sounds in the words shout and child, which are both voiceless. The “sh” sound
is represented as [f] and the “ch” sound is represented as [tf]. The word shoe-

begins and ends with the other voiceless palatal sound [tf]. The sound [3] such
as treasure and pleasure which is voiced palatal. The other voiced palatal is
[d3] as in joke and gem. The sound [j] is also voiced palatal as in yet .

Velars: e

Sounds produced with the back of the tongue against the velum are called
velars. . The sound [k] as in cook is voiceless. The sound [g] as in go. The voiced
sound [n] as in bang._
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Glottals: e

There is one sound that is produced without the active use of the tongue and
other parts of the mouth. It is the voiceless sound [h] as in horse .

:Glottals
Gga ga ) adl) e la g g Gleadl) adall Jladl) aladin) ¢y g3 Al aly g2} da) g & gua ElLin
Obast) A Jlal) o LS [H] agd Cigea ¥ o)

Charting consonant sounds: <*
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Nasals m n
liquids Ir
Glides w i

Manner of articulation: <«
Stops e
Fricatives e
Affricates e
Nasals o
Liquids e

Glides o
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Manner of articulation: <
Stops: e

The set [p], [b], [t], [d], [k], [g] are all produced by some form of “stopping” of
the air stream (very briefly) then letting it go abruptly. This type of consonant
sound, resulting from a blocking or stopping effect on the air stream, is called a
stop (or a “plosive”). Example: bed.

Fricatives: e

The set of sounds [f], [v], [0], [8], [s], [z], [f], [3] involved almost blocking the air
stream and having the air push through the very narrow opening. As the air is
pushed through, a type of friction is produced and the resulting sounds are
called fricatives. Example: fish, those.

:3hil) 48y )l
2 g
5 il 5151 ol i 5" QIS o S5k g8 O i 3] <[] ¢[4] <[] o] <[] A sane
81 5¢) Lt i) of s LU ¢ daalill g oSLual) i guall (o £ o) 130 Blad A8 5 oF (120 B 30
cor ) idla (M LI ) By ey ¢ lo

a9 ol 8 o) gl L 488 e AS LA [3] <[f] <[Z] <[8] <[2] <[O] <[] <[] <l 5aY! (30 Ae gara
e g MY (e £ 68 ) Al (DA (e ) 54l ada LaS i o (Gl A e ) ggd) 2o
L g cMlandl) s e ) gaSIiaY) Aaslil) <) gual)

Affricates: o

If you combine a brief stopping of the air stream with an obstructed release
which causes some friction, you will be able to produce the sounds [tf] and [d3]
these are called affricates . Example: cheap and jeep.

Fricatives: e

The set of sounds [f], [v], [0], [8], [s], [z], [f], [3] involved almost blocking the air
stream and having the air push through the very narrow opening. As the air is
pushed through, a type of friction is produced and the resulting sounds are
called fricatives. Example: fish, those.

1 i) & gall
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Nasals: o

When the velum is lowered and the air stream is allowed to flow out through
the nose to produce [m], [n] and [n], the sounds are described as nasals
Example: morning and name.

Fricatives: e

The set of sounds [f], [v], [0], [8], [s], [z], [f], [3] involved almost blocking the air
stream and having the air push through the very narrow opening. As the air is
pushed through, a type of friction is produced and the resulting sounds are
called fricatives. Example: fish, those.
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Alveolar ndge

» Falate

The Vocal Tract
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The Organs of Speech

fffff

Lecture 2 ¢

(4ad)) <) g2l ) The sounds of language <
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: ( 3bi 4% k)Manner of articulation

Liquids: e

The initial sounds in led and red are described as liquids. They are both voiced. The
[1] sound is called a lateral liquid and formed by letting the air stream flow around
the sides of the tongue as the tip of the tongue makes contact with the middle of
the alveolar ridge. The [r] sound at the beginning of red is formed with the tongue
tip raised and curled back near the alveolar ridge.

:Jilgdl @

Gl [L] cugpeall pamu g . Cgua Lagd LaadlS g Jil gl Cia g5 fed and red : 43l 2 < gua¥)

e JuaiY Jrag Clall) i s g laall) il g Jon 1 501 bt (38050 placall (5sk 0 Sy e
Alal) ¢ra Al B2 g8 @ Ul g Al 918 S Gleall) ks g JS4 (Red ) &) (B[R] . Aieal) cnaiia
At

Glides: e

Y Y
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
@ The sounds [w] and [j] are described as glides. They are both voiced and occur at @
@ the beginning of we, you and yes. These sounds are typically produced with the @
@ tongue in motion (or “gliding”) to or from the position of a vowel and are Q
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
Y Y
Y Y
Y Y
v v
v v
Y Y

sometimes called semi-vowels

(B ) @

we, you and yes 4alg L‘Mg g_é, ddal g & gua Lagd LaadS il i) Le_i'h Gdag [i] s [w] QU«AS"
Al Ul e g e G ja aBga (e gl ("EI" ) ASad) B Glaall) pa Bale i) gaal o L) aly g
Adal) g

(AiSlal) ) ua) a5 ) Charting consonant sounds:

Bilabia | Labiodenta Alveola | Palatal | Velar
| | r
+V -V +V -+ - +Vv - o+ -+ -+

Manner

Vv v VvV V v VvV V V V V

Stops p b t d k g
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fricatives f v 0 o s z ] 3 h

Affricate t d3z
s I

Nasals m n
liquids Ir
Glides w i

(4Liady) 442 ) Study questions

1. Which of the following words nolrlmally end with voiceless (- V) sounds
and which end with voiced sounds (+ V) sounds?

Y Y
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
9 a.bang +V_ d. fizz +V_ g.splat -V 9
9 b.crash -v_ e.rap -V h.thud +v_ Q
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
\ \

c.ding +Vv f. smack -v i. wham +V

2. Try to pronounce the initial sounds of the following words and indentify the’
place of articulation of each one (e.g. bilabial, alveolar, etc.).

a.calf  welar e.hand  glottal i.shoulder  palatal
b.chin __ palatal f. knee nasal j.stomach _ alveolar

c. foot labiodental  g.mouth  nasal k. thigh  dental

d. groin _velar h. pelvis __ bilabial l.toe _ alveolar

16
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1. Which of the following words nolrlmally end with voiceless (- V) sounds
and which end with voiced sounds (+ V) sounds?

a.bang +V d. fizz +V g.splat -V
b. crash -V e.rap_ -V h. thud +Vv
c.ding +V f. smack -v 1. wham +V

2. Try to pronounce the initial sounds of the following words and indentify the’
place of articulation of each one (e.g. bilabial, alveolar, etc.).

a.calf  welar e.hand  glottal 1. shoulder  palatal
b.chin _ palatal f. knee nasal j.stomach  alveolar
c. foot labiodental  g.mouth  nasal k.thigh  dental

d. groin _velar h. pelvis __ bilabial l.toe __ alveolar

1. Identify the manner of articulation of the initial sounds in the following
words (stop, fricative, etc.).

a.cheery affricate  d. funny fricative g. merry _nasal
b. crazyv stop e.jolly affricate h. silly fricative
c.dizzy stop f. loony liquid i, wimpy glide
Vowels: <
Vowel sounds are produced with a relatively free flow of air. They are typically

voiced. To describe vowel sounds, we consider the way in which the tongue
influences the shape through which the air must pass. To talk about a place of
articulation, we think of the space inside the mouth as having a front versus a back
and a high versus a low area. Thus, in the pronunciation of heat and hit, we talk
about ‘high, front’ vowel sounds because the sound is made with the front part of
the mouth in a raised position.

In contrast, the vowel sound in hat is produced with the tongue in a lower position
and the sound in hot can be described as a ‘low, back’ vowel.

heat, hit your mouth will stay fairly closed
hat, hot sound your tongue will move lower and cause your mouth to open wider.
Adalf Ci sl
Alall g a < gaa Ciua gl , Ble A gua (A 9, buaed Al &) ggd) (335 aa Alal) (i a il gual ) g

Oy cdualall (S e Cuaall | a8 o AN ¢ sl LA (e JSA cledll e i AN A8y ) o (s 58
heat dﬁgéciﬁj_mm&&@&mj‘ghﬁ &&A&H@Jﬁgeﬂ\d&\éé\ﬂ!@)ﬁl
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b ol (e (pala¥) £ 3ad) g gual) S AN ‘high, front’ Al dija il gual 8 &aalig c and hit
Ao g hall i g
M\gdu&gmgﬁcﬁﬂbuﬁy‘ﬁ\gﬂuw‘e@@@\uyﬂyc&\& cdglld\‘;é
Ao Ui At aal g il il ¢gall
o g) ISy adl) el G 9 Jiad & Ay U o lilidd (hat, hot )2 < gl

: (M) G al) Vowels:
Vowel sounds are produced with a relatively free flow of air. They are having a

A eI Ay L Al o) gl (385 aa dlal) Cig ga il gl L) Al

Front Central Back

High i u
! U

Mid c 2 o

£ ~ 2

v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
z z
v v
g Low ® a a g
@ [ 1]kev, me, beef, heat [ 2] above, oven, support [ 1] boo, move, two, vou Q
[ 1] bid, myth [~] blood, tough [w ] book, could, put
g [ ] bed, dead, said [2 ] born, caught, fall g
@ [=] bad .laugh, wrap [ a] book, P Q
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
\ \

(4 G a) ) Vowels:
(«wlle sy ) Diphthongs: o
The combination of two sounds is known as diphthongs.
(<Ll ) diphthongs. = <ia (U ga (i geal)
[ 21] buy, evye, L pie, sigh [ oU] boat, home, throw, toe

[ aU | doubt, cow, bough [ 21] boy, noise
[ el ] bait, eight, great, late, say

(AR a9l ) Homework

1. Using symbols introduced in this chapter, write a basic phonetic transcription of
the most common pronunciation of the following words..
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O o gad Y ahaill Lonlu) A pual) fraal) GiiS) (Jualll) 138 A cua o A1) g ) aladiady 1
Al clalst

a. catch . noise 1. thought
b. doubt f. phone j. tough
c. gem g. shy k. would

d. measure h. these 1. wring

lecture 3
The sound patterns of language
Bl A AU 5 gual)
ERPhonology: is the description of the systems and patterns of speech sounds in a
language.
ple ciliiguall ;g alad) G2l G dalill Gl gB g < gual) (B dall)
EEPhonemes: are meaningful sounds, if one sound is used instead of the otherin a
word its meaning will change. /f/ and /v/ fat and vat
il galls A G gual) D e, 13) al aladia) Cgia aa) g Y (e AY) 8 dalS Wilina i,
Qg a5 A3 Jv/ s/f/

Y Y
Y Y
Y Y
Y \
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
3 3
Y |
Y Y
Y Y
g 1 phoneme = multiple letters g
G gea da) g = jaY) saaxiall
g [k/ = in‘cat’ g
‘K" in ‘bike’
@ 2 Ietters.together =1 phoneme Q
9 Ol e = Qy.a .\?\3 Q
‘th’ = /0/ as in ‘thing’
9 2 letters together = 1 phoneme Q
9 Qléﬁ laa = Gigua dal) g Q
‘ch’ = /k/ in ‘chemistry’
9 EREPhones and allophones: phones are different versions of sound-type regularly Q
Y Y
produced in actual speech. They are phonetic units and appear in square brackets.
9 When we have a set of phones, all of which are versions of one phoneme, we add Q
9 the prefix “allo-"” (one of a closely related set) and refer to them as allophones of Q
Q that phonemes. [t] sound in the word tar is normally pronounced with a stronger Q
9 puff of air than is present in the [t] sound in the word star . (aspiration) Q
9 ) g il g (shalll; i) 9l (A <)) ABLiSa (e o8 gual) TS AUSTHL (B cullad Adadl) | g Q
Glda g ‘E,:a}d\
Y Ot (s gina ) ol g8 A 1a), Ladie (985 Upal A ganna (1 el gl LS 5 s pucal i gaca e g LMD g ¥
@.4‘9:1 i.‘ml.,d\
9 "-allo " )3aal g (e s gana bai i Ul ) W 5) £ sl 9 L) LS ¢ allophones ¢+ cilfigal) | [ £ Q
9 [ Cigall A Q
¥ ) R ) yan 511) AalS 0204k BS 2on AT (6 g8 (81 5) LaS 58 25254 ] t [ o 4alS star) ) poai Y
@ = @
Y Y
Y Y
Y Y
Y Y
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Y Y
Y Y
g ERMinimal pairs and sets: when two words such as pat and bat are identical in g
form except for a contrast in one phoneme, occurring in the same position, the two
% words are described as a minimal pair. site — side, bet — bat, night — right, might - Q
@ fight. One minimal set based on the vowel phonemes (heat, hit, hat, hot, hut, Q
@ hate), and another minimal set based on consonant phonemes (big, pig, rig, fig, Q
dig, wig).
% G\Jj‘f‘cﬂ&w\‘gaﬁJﬁw‘:\S\QJLSUAJGQMJLbathatQLﬁHL\ﬁALA:\A\&Qy.a.\;\‘g‘“;’ Q
v ol gl v
@ Lild agrawd minimal pair . 131y <uilS JiS) (e (piialS Jia (big, pig, rig, fig, dig, wig) Wild agzac Q
e minimal set. Q
EESyllables: adaia Jadl
% A syllable must contain a vowel or vowel like sound, including diphthongs. The Q
@ most common type of syllable in language also has a consonant (C) before the Q
@ vowel (V) and is typically represented as CV. The basic elements of the syllabus are Q
@ the onset (one or more consonants) followed by the rhyme. The rhyme (sometimes Q
written as “rime”( consists of a vowel which is treated as the nucleus, plus any
% following consonant(s), described as the coda. Q
Q G O s siad o adile dija Ao gl i a Ao e o gual) Ly b 6lld cilal Y), £ i) SV Lo gu Q
¥ , ‘ L oegdagisa o ¥
Aall) Lol Liayl (8L ) € ) G i ja Alad) ) V) Al g Jiiad Bale La OV waabind) ) grgiall 2
% 40y )daalg 9 s Q
¥ i g ) Al gt 805, 4008 5 Y 555 Uil nmly ™ rime ™) * ) oS 5 i) )15 ¢ 553 30 Y
@ s de AN Jalas Q
@ & L) B gl ABLAYL ) ol Sl ) 5 ) (AUl LaS g gia ga (b adallal) (alidl), Q
Syllables like me, to or no have an onset and a nucleus, but no coda. They are
@ known as open syllables. When a coda is present, as in the syllables up, cup, at or Q
@ hat, they are called closed syllables. Q
@ The basic structure of the kind of syllable found in English words: Q
@ green (CCVC), eggs (VCC), and (VCC), I (V), do (CV), not (CVC), Q
like (CVC), them (CVC), Sam (CVC), am (VC)
Y il ¢ ptia Y ¢35 LAl 8153 015 ¥ g e 551 S e Al LS (4 g e i) Y
9 da gidall, Aie g Q
Q 1529 pdalla (i gua 2y e cdlal) LaS g Jlad) E_A ahliall up, cup, at or hat, L (lks 4xde akiliall Q
Adlsal),
% dai) by 13gd g5l (a alalla Caa g gﬁ clalll) 4 julaiy); Q
% BERConsonant clusters: <le gana G jal) ¢Sludl) Q
Q Both the onset and the coda can consist of more than one consonant, also known Q
Q as a consonant cluster. The combination /st/ is a consonant cluster (CC) used as Q
Q onset in the word stop, and as coda in the word post. Examples, black, bread, trick, Q
flat.
v S Al e g aa s A, (S o 05S5 on ASH m i (oSl gl g L oy LSS S, v
@ ) ) ai'@eﬂ Om/ st/ ) ) : Q
% @@w@h)cc)em‘;qm%dﬁﬂ)stop)c.u.g‘gd)akw\gé}\m\_cz\.\f\-a\ Q
ead, brack, bl at flick, tr
% BRIAssimilation: clatiul) Q
@ When two sound segments occur in sequence and some aspect of one segment is @
Q taken or “copied” by the other, the process is known as assimilation. Q
Y Y
Y Y
Y Y
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Y Y
Y Y
\ Ladie 58 (o (ol Ja i gaall uaal B ualeads g 9 341 (2ary il gad) (o dakd Basl g ol "o (e 0B v
@ ikl AY) Gy Q
¥ dglanl) lagias) ¥
@ Examples, Q
@ have | have to go (in everyday speech) ( ® <tbdll gl ) Q
good girl goog girl

@ good boy goob boy Q
¥ BRIElision: Bl Jalés) , clsu) Cigua) ¥
@ The process of not pronouncing a sound segment that night be present in the Q
@ delibgrately careful prontfncia”tion of a word in.isolation is degcribed as elision. Q

a5 Agles ate (3l & guall (8 lli ALY ¢ 5583 g2 9o A (58 Jaes (3hal AalS ey O Dli)
Y e aldls.) Y
@ Examples: you and me (d sound is not pronounced) (d ¥ (éhi & ga ) Q
@ friendship (d sound is not pronounced) (d ¥ (bl < ga) Q
@ he must be (t sound is not pronounced) (t ¥ (bl < 3a) Q

ERAStudy questions
@ ERDo exercises 2, 3 and 6 in page 49. Q
@ 2_ What is an aspirated sound and which of the following words would normally Q
@ be pronounced with one: kill, pool, skill, spool, stop, top? Q
9 A aspirated sound is a puff of air and would be pronounced with pool, spool, and 9
stop.

9 3_Which of the following words would be treated as minimal pairs? 9
9 ban, fat, pit, bell, tape, heat, meal, more, pat, tap, pen, chain, vote, bet, far, bun, Q
9 goat, heel, sane, tale, vet 9
9 goat vote, fat far, bun ban, chain sane, heel heat, bet bell, pat fat, pit pat, vet bet. 9

6_Which segments in the pronunciation of the following words are most likely to
9 be affected by elision? Q
9 (i) government (ii) postman (iii) pumpkin (iv) sandwich (v) victory Q
9 Government- /n/ - gavarment 9

Postman- /t/ as in “tuh”- poustmaen

9 Pumpkin- /p/ in second part of pumpkin -pamkan 9
@ Sandwich - /d/ seenwitf %
@ Victory-/t/ as in “tour” viktoori Q
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
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Lecture 4 ¢

Word formation: <

Y Y
v v
v v
v v
v v
v v
v v
v v
@ Etymology < Q
v oo v
@ Coinage <« Q
@ Borrowing < Q
g Compounding <* 2
@ Blending < Q
g Clipping < 2
@ Backformation < Q
@ Conversion ¢ Q
v v
@ Acronyms ** Q
@ Derivation < Q
g Prefixes and suffixes <* g
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
Y Y
Y Y
Y Y
v v
v v
Y Y

1Sl dals o
e 5oy
FATYS
Ul By
T
Backformation
Jagad
il _paidal)
Gt’d’.\u!
AU g cliald)

Etymology: <+

Etymology is the study of the history of words, their origins, and how their +*
form and meaning have changed over time. By an extension, the term
"etymology (of a word)" means the origin of a particular word.
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7/

Spanish: has contributed many words, particularly in the southwestern «*
United States. Examples include buckaroo, alligator, rodeo, and states'
names such as Colorado and Florida.

Portuguese: Albino, lingo, verandah, and coconut. <
Italian: diva, prima donna, pasta, pizza, paparazzi, and umbrella. <+
Finnish: sauna <+

Arabic: adobe, alcohol, algebra, apricot, assassin, caliber, cotton, hazard, <
jacket, jar, mosque, Muslim, orange, safari, sofa, and zero.

Japanese: sushi, and tsunami. <

v v
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
z z
Y Y
Y Y
Y Y
Y Y
g jalad) o
g s8] Bl g e pa il 38 Walina g LIS (S 9 cagd gual cctilalS) ey U A o 52 4 jalad) g
= - mu dalS Jual (ay "(dalS (1) «uﬂm s Ol iy ” ¥
¥ e AL 0ong a8l LS o apin B Lapa g ) G syl phlas g 4
¥ 512883 3955158 g 5 sy Bl 8 lina sl ) 1 y
gl S gng oy AR sl ATl
\ AdBa g g gaaall o) Fiall g g pSaall g cAala o) Uiga cdyiia -4 IY) v
@ U gl 141018 Q
v (5 5 ey B g R 5 o B e il il 53 53 s v
v sy Sy g e bl . (JES ) calnn cinans v
9 el gl A0S g g g 1AL Q
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y

Coinage <
Coinage is the word formation process in which a new word is created «*
either deliberately or accidentally without using the other word formation
processes and often from seemingly nothing. For example, the following list
of words provides some common coinages found in everyday English:
aspirin, escalator, band-aid, Frisbee, Google, kerosene, Kleenex, Xerox,
Zipper.
ides o
aladin) ¢ g9 Uadll 3k oo gl laes La) Byan AalS (0 60 a3 G Al S Alee 4 Aland)
Cra Al Al (JUa) Jass o 5 Y (o g La LIS g cilbiland) JuS5 B (5 AT dalS
(Cromad) e ) 4 SaladY) Aadl) g caa g (Al 4S idial) coinages o adky il
Alsns ¢S 93339 ¢SS ¢ Cppnn g S I 929 ¢ man Al (Al gl ilblan] canaal)

Borrowing +*
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Borrowing is the word formation process in which a word from one  +*
language is borrowed directly into another language. For example, the
following common English words are borrowed from foreign languages:

algebra - Arabic X
chowmein — Chinese o
murder — French o

paprika — Hungarian X8

pizza — Italian X

>

>

yo-yo — Tagalog D

L)

Y Y
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
% AR IR Q
% 8 AT A )8 il Bas) g A3t (e AalS il 5B Al Al Qi Alee g () 5BY) Q
% Aial) Clalll ¢pe AS jidial) Ay Jalady) clalsl) cuda 5B) A La (JUiall Janes Q
' Tl - sl v
Y dipall - (e gl Y
Y A ) - Y Y
@ 4 ladgd) - slal) Jaldl @
@ ;ilha‘z!‘ -1 A Q
@ aballall — g gal) Q
@ Compounding < Q
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v \

Compounding is the word formation process in which two or more lexemes <*
combine into a single new word. Compound words may be written as one
word or as two words joined with a hyphen. For example:

noun-noun compound: note + book - notebook «*
adjective-noun compound: blue + berry - blueberry <

verb-noun compound: work + room - workroom «*
verb-preposition compound: break + up - breakup <*

Compounds may be compositional, meaning that the meaning of the new <
word is determined by combining the meanings of the parts, or non-
compositional, meaning that the meaning of the new word cannot be
determined by combining the meanings of the parts. For example, a
blueberry is a berry that is blue.
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el o
B Bas) g 3ua dalS [exemes (s gandl (B S i (i) B dalsl) J035 les g Cisliay
sl Jap o _3&.4\3@@*'45\ Oiall g AalS S.AA\JQQSJAQLA.‘SL.GS@S
B3 QS 4+ 5 80a 1Sy aut] au]
> g gl + @Y 1S 0 pud-ddial)
Ly Jeal) 482 + 1gana (Jadl) o)
S a4 S srana ) G Jadl)
e (s el JNA (e Bayaa AalS ina paat ol O ing 138 9 S S LS pal) 95 B
(o aandl A (e Laaal oy Bagan AalSl Sna W AS] iy 138 9 oS il & gl cpd Jal
B Gl O s @il e (Jlall Ja to s Sl

Blending <«

Blending is the word formation process in which parts of two or more ¢
words combine to create a new word whose meaning is often a
combination of the original words. For example:

advertisement + entertainment > advertainment o5

/7

biographical + picture = biopic <

breakfast + lunch = brunch %

smoke + fog - smog <>
Spanish + English - Spanglish X
spoon + fork »spork <>

7
°e

A
B rall 3 B dals ;wg@g\ﬁsuﬁg‘syubigﬂ\M\mmy B
Ul Qo Ao Aubal) cilalsl) ¢a a3 al) (e S
Lgd A ADe) > + 450 1 (o)
uign D g+ A0 B )
> MY C daa g o)) + adY)
- Jiise G+ & )
> + A Gldal) qiladal) (A
Chladlad) = + 4y jaladY) Ailasy)
o > AS g Aala +

Clipping
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9 motor + hotel - motel <> 9
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Clipping is the word formation process in which a word is reduced or
shortened without changing the meaning of the word. Clipping differs from
back-formation in that the new word retains the meaning of the original
word. For example:

examination — exam
influenza - flu
laboratory — lab
mathematics — math
photograph — photo
telephone — phone

Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
: :
v i i A e s s o A g ) K e v
@ rlal) S Ao Abal) dalSl) ine Aliay Sayan dalS ¢ & JuSi Bale) Q
¥ SaieY) - Gaadll ¥
Y )34 o) - ) 34 glasy) ¥
y el y
¥ gty ) - sty ) =
@ dupa-d g Q
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y

i) — i)
Clipping <

The four types of clipping are back clipping, fore-clipping, middle clipping,
and complex clipping. Back clipping is removing the end of a word as in gas
from gasoline. Fore-clipping is removing the beginning of a word as in gator

from alligator. Middle clipping is retaining only the middle of a word as in

flu from influenza. Complex clipping is removing multiple parts from
multiple words as in sitcom from situation comedy.

A1) 5290 Al Buinal) Aab g cAday gia Adakl (ALl 5 j)anal) ¢ jgdal) g Adak! ALl (1 £ ] Ay )
laalll & Jlad) o LaS Aalsl) dyhay 411 3) 9 Al 5 jlaual) | 350 (o Uil (B LaS dalSl) Al
A MY e ) 39181 B Jlad) ga LaS Al o o Jatd oY) g Adaa gie Aall | pa el
Cra Aadaa o< A 5t A pal) B Jlad) ga LaS Basaia CilalS (ha Badaia £ Jal Ad) ) g 8a8na ALl
s

X/

Back-Formation <
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Back-formation is the word formation process in which an actual or
supposed derivational affix detaches from the base form of a word to
create a new word. For example, the following list provides examples of

some common back-formations in English:

Original — Back-formation
babysitter — babysit
donation — donate
gambler — gamble
moonlighter — moonlight

television — televise

Y Y
Y Y
Y Y
Y \
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
z z
BRRARKPLAL
9 Jualy ABELEY) G sidall o) Andl) | griay Lgd 0 90 Al Al JuSEG ddas g8 JuSA 3 gad) Q
g (o A ) 5 il s I 550 S ALY RS 3018 3500 o g
1A plady) Aall) 8 A4S jidial) 481800 L))
= SRR T IRy ¥
Y £ - Juki) Loy ¥
y S !
g A4l ¢ g2 - moonlighter g
9 (s A Sl - 9o 3l Q
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y

Conversion

Conversion is the word formation process in which a word of one
grammatical form becomes a word of another grammatical form without
any changes to spelling or pronunciation. For example, the nouns bottle,

butter, chair have come to be used, through conversion, as verbs: We
bottled the home-juice last night; Have you buttered the toast?; someone
has to chair the meeting; They are vacationing in Florida.

Examples:

Adjectives Verbs
dirty to dirty
empty to empty
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Noun to Verb Conversion The most productive form of conversion in
English is noun to verb conversion. The following list provides examples of
verbs converted from nouns:

Noun - Verb
access — to access
bottle — to bottle

can —to can
closet — to closet

email — to email
fool - to fool
Google - to google
name — to name

salt — to salt

(Jrl) Gy gt ol (o A Sty Aadl) A g gal) (e dsall) JESY) JSAN Jadl) J gal ol
roland) (e Lgds gt Jladd) o Adiaf A0l dailal)
Jad - o)

o dsasll- Jgay
dalajl-dalaj
H S - (S
A5) A% . 481 A
IR s A - (gAY )
g1l (sl
Google I - Jas>
JUa Jass S - )

zdall Y - el
"hw. !_"..’t

Acronyms

Acronyms are words formed by the word formation process in which an
initialism is pronounced as a word. For example, HIV is an initialism for
Human Immunodeficiency Virus that is spoken as the three letters H-I-V.
However, AIDS is an acronym for Acquired Immunodeficiency Syndrome

28

Y Y
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
2 3
ship — to ship
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that is spoken as the word AIDS. Other examples of acronyms in English
include:

ASAP — as soon as possible
PIN - personal identification number

radar - radio detection and ranging

&) _aidiall
o AN A Y Gig e (gl A AWK S Ales gl Al cilalS) L & aidal)
A A ) Ao Uial) (el (gl Al oW g a9 Ayl Ao Uil (el g b (Ul Ja
La DUl Jlaid) ga S g celld pa g Ay pdad) Ao Uiall (i (g s Y (ilas ) gy Gitay
Aall) A il paidal) (e o AT Al | 34 AalS (e g daaaly AN GuudiSal) dslial) als
eob La Ay Julady)
CSas g B B (Saa el ol b
el Ciy il o8 ) - PIN

@ BT RTUBI M
Derivation

Derivation is the word formation process in which a derivational affix
attaches to the base form of a word to create a new word. Affixes, which

smallest linguistic unit of a language with semantic meaning. Bound

morphemes, unlike free morphemes, cannot stand alone but must attach to

another morpheme such as a word. For example, the following two lists
provide examples of some common prefixes and suffixes with definitions in

English:
Gl::.':".w\

A LY S (pa B30l S o Lyl ABELEY) ) gy 4 Al i Bl 0 S
Lgaddaag jual A CiledS aaaa cilaglS 4 (lBadl) g ciliold) Jadd il g «clBadldl Basas
i (S0 g a5 G () ()Sag Y (Lilaa cilaglS (e o casaa eS| VAN daal) ae 42l

ALaf apal (il L La (JUal) Jrw o Baa) g 4alS S5 morpheme AT Lo (@l o

2 alady) ARl iy js e A jidia cliadll) g clisll)

Prefixes
a- — without, not
co- — together
de- — opposite, negative, separation

dis- —opposite, negative
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en- — cause to be
ex- — former, previous, from
in- — negative, not
non- — absence, not
re- — again, repeatedly
un- — negative, not, opposite

cliald)
ol g 094 --A
s - b &L
Juall g ¢ usal) dgabas c- (g2
Labes ¢ puSall-
o) 2% -EN
Cra cARluad) ¢ Balaad) - Gabead)
Y il - b
¥ogke - £
1S9 10 04 ¢ s A B4 - Bale)
Sadl Y Al - Baaiall aaY)

Suffixes
-able — sense of being
-er — agent
-ful — characterized by
-fy — make, become, cause to be
-ism — action or practice, state or condition
-less — lack of
-ly - -like
-ology — study, science
-ship — condition, character, skill
-y — characterized by, condition
gal sl

CuilS g ey - Jo jaldg
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Sy - 4
- b
UJ‘ $3% e&udﬁ cJaa - L“,JLAJL
hﬁjiﬂjé cz\.u.ul.a.njid.aa- ISM-
499 ?AG - da‘
Jia - LY-
pslall g &l 13 - ology-
B lgall g e o cdapdd) - il
PAPN Omalic e
Study questions
ALy LM\JJ
Do exercises 2, 3 and 6 in page 49. <+

A9 4adall 6 53 92 Gl alidll

Lecture 5

Morphology
(Lo sl s 5all Jeial) ale)

( Js&dl ale) Morphology
Morphemes <
Free and bound morphemes e

(4ajtall g 3 a0l Morphemes) o
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Lexical and functional morphemes o
(%28 paill g Lranaal) morphemes) o
Derivational and inflectional morphemes o

( morphemes ) (§&idi g iy 5 )
Morphological description e
(4asisd)sall Ciay)

Morphs and allomorphs e

Morphology : is the study of word formation. The basic unit in the study of <
morphology is the morpheme.

9 4a gl g8 gall Al )3 (A i) Ban o) Aalsl) 0y o€ da) 3 98 1 Linglshga o
.morpheme

A morpheme or morph is a minimal unit of meaning or grammatical

tense or plural. For example:
The police reopened the investigation

reopened consists of three morphemes. One minimal unit of meaning is
open, another minimal unit of meaning is re- (meaning ‘again’) and a
minimal unit of grammatical function is —ed (indicating past tense).

tourists
tour = one minimal unit of meaning.
-ist = another minimal unit of meaning. (person who does something)

-s = a minimal unit of grammatical function (indicating plural).

Lgaidilig (e bang Ay gaiddli g ol ina (a8 psua Baa g s2: A morpheme or morph
O s 5 a5 ol il ) 5 LS el Sl Jask

The police reopened the investigation
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¢ (open) s (e Baal g Baa g G AN Al (morphemes) &6 ¢ (58 Reopened
‘re- (meaning ‘again) s sxal) G A aal) g A0 Baag

(A 80 fray)
ed & Lgaididhg e das g e S aallg
(indicating past tense)..(<ablall Jadl) 1) jadii) dalis)
tourists
i (s A0 aad) Baal g aa g = tour
a (a g AT Baag e SV aal) = |ST-
(Lisdh Jady 53 yadill)
el ) & gai Adlh g (pa Ban g (e (AY) 2al) = S-
(=5 morphemes-) ) Morphemes are two types: ¢
(e jtall gl dasi yall 9 3 ad)) Free and bound morphemes.

Free morphemes are morphemes that can stand by themselves as single e
words.

For example: open and tour
B3 hal) ClalSS Waa, g il o ¢Say Al & 3 morphemes )
open and tour : JEa) S o

Bound morphemes are morphemes that cannot normally stand aloneand o
are typically attached to another form.

For example: re-, -ist, -ed, -s (prefixes and suffixes)
AT JSE ) 38 5sae g s g iy O oy A (A 4a3Wll morphemes-!
(cliadul g clisll) S-¢ (Aalidl) ed «-iST ¢ (34e))-re :Jbal) Jum e

Free morphemes can generally be identified as the set of separate English word
forms such as basic nouns, adjectives, verbs, etc

When free morphemes are used with bound morphemes attached, the basic word
forms are technically known as stems.

For example: undressed and carelessness

(un- bound= prefix) (dress free = stem)
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(-ed bound= suffix)

JS Aluadia 4y julady) AalS) (e 4 gana o Lo Ly 4gl) Ly (f la gae (S8 aY morphemes-)
& Jadl) g ccliiall g Ay sland) Jia
Lalil) (e i g mal) (o g (488 al) ddasi yal) morphemes-! g 5l morphemes I aladia) ic
ot Al Al Jledi g Adl)
undressed and carelessness :Jball Jaw e

(un- bound= prefix) (dress free = stem)

(-ed bound= suffix)

Free morphemes consist of two categories
(i lo 5 58a35 2l morphemes )

Lexical morphemes: ordinary nouns, adjectives, and verbs that we think of e
as the words that carry the “content” of the messages we convey.

For example: girl, man, house, tiger, sad, long, yellow, open, look, follow, break.

(they are described as “open”)

" s siaa" Jaad Al cilalsl) Lol i o Jedl g ccliuall 5 cdgtal) slawd) sdianaa morphemes

A A il
J\SOJMJQ?AJ) .JMSJ‘@S\ ﬁﬂ c@é cJLéY‘,ngh ‘&J'AcJ.Aﬂ\ 4%&&9)&3&5&5&‘%&9
(Il@éll

Functional morphemes: conjunctions, prepositions, articles and pronouns. e

For example: and, but, when, because, on, near, above, in, the, that, it, them.

(they are described as “closed”)
Aladall g all g s cciball i g A :morphemes il g

L 033*43..3 ?AJ) ?@J cﬁl‘é i cgé cb»&i “,\,Uﬂ\ ‘U"; cﬁ‘f Ladic ‘0533 <9 dl:\.d\ d*\méﬁ
(" Aaial"

Bound morphemes consist of two categories *°
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Derivational morphemes are used to make new words. e

For example: careful + -ful or careless + -less, foolish + -ish, quick + -ly, payment + -
ment. re- + reopen, mis-+ misused. (suffixes and prefixes)

s (b (e 685 dajlal) morphemes-)
BSaia cilalS pial ABELEY) morphemes-) addid g
: careful + -ful or careless + -less, :Jial) Jas A
foolish + -ish, quick + -ly, payment + -ment. re- +
reopen, mis-+ misused. (<Ll g s/ slf)

Inflectional morphemes: are used to indicate aspects of grammatical o
function of a word. English has only eight inflectional morphemes.

A palady) Al A g B 2 sadl) ) sl ) LS aadinds ; by pall) morphemesd! o
A3y pali morphemes 4l (5 g dual (!

Jim’s two sisters are really different. .\

One likes to have fun and is always laughing. .Y

(3rd person sinqular, present participle)

The other liked to read and has always taken things seriously. (past tense, .Y
past participle )

One is the loudest person in the house and the other is quieter thata .¢
mouse.

(comparative, superlative)

(inflectional morphemes are all suffixes)

(35l (e WS o4y uail) morphemes )
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g inflectional L. g
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g (4> 5158 sal) Ciua 5) Morphological description g
e The child’s wildness shocked the teachers e
g The child -’s wild -ness shock g
\ . — — . v
Q functional | lexical | inflectional | lexical | derivational | lexical Q
v v
v v
Q -ed the teach -er -S Q
v v
g inflectional | functional | lexical | derivational | inflectional g
v v
g Morphs and allomorphs < g
3 : 3
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cats consists of two morphs cat + s
(a lexical morpheme and an inflectional morpheme)
( 4l morpheme s 4xazall morpheme (€ 5 A 5 $iad cats 4l )
buses consist of two morphs bus + es
(a lexical morpheme and an inflectional morpheme)
(48 <l morpheme $ 4xazall morpheme (x5 s ¢ $iali buses 4alS )
(-s and -es) are called allomorphs
allomorphs = (i (-s and —es)
sheep + plural
man + plural
Study questions

Do exercises1,2abc,3abcd,4in page 74.

Lecture 6 <
Grammar <
Grammar <
Traditional grammar <«
The parts of speech <
.

Nouns <

Articles <
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Adjectives <

Verbs <

Adverbs <
Prepositions <+
Pronouns <*
Conjunctions <
Agreement <

Traditional analysis «*
The prescriptive approach <

v v
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
g T W g
v L el Y
9 . slauy) m Q
g e g
9 Judi 9
9 Jea¥ @ Q
9 R d:sﬁ © Q
v i v
! i v
3 o 3
Y T Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
v v
v v
v v
Y Y
Y Y
v v

Grammar

The process of describing the structure of phrases and sentences in such a way that
we account for all the grammatical sequences in a language and rule out all the
ungrammatical sequences.

Traditional grammar: <+
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» u

When we label the grammatical categories “article,
words in the phrase the lucky boys we use traditional grammar. The best-known

adjective” and “noun” of the

terms from that tradition are those used in describing the parts of speech.

i gd
aied g 43l 8 45 gadl) anan Juuledh puudi Al A8y phal) 038 Jia A Jaadl g &l lal) S Chia ol diles
)98 e ) gie pan

:Q'g‘gﬂ\ PERACA]
AR Cpalh gliaall AW g¥) B laadl B CilalSl) pa sl g A" (MBalall™ 4 gadl) CUlidl) dpand US Ladic
A o) el cha g A dasdial) @l oo A8 138 (pe gl Jag pd, L) gall)

The parts of speech: <+
“The lucky boys found a backpack in the park and they opened it carefully”

a3l e sialsm

"Agliny ) gatd g ABuaal) B0 ueld o cplh gliaall Y Y1 o gladl
| The | lucky | boys | found | a |

Y
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article adjective noun verb
@ backpack in the park
@ noun preposition article noun
and they opened it
g conjunction pronoun verb pronoun
@ carefully
v
v
v
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adverb

The parts of speech:

Nouns are often defined as words, which name persons, places or things. e
For example: boy, river, friend, Mexico, day, school, university, idea, John,
movie, vacation, eye, dream, flag, teacher, class, grammar. John is a noun
because it is the name of a person; Mexico is a noun because it is the name

of a place.

Articles are words (a, an, the) used with nouns to form noun phrases e
classifying those “things” (you can have a banana or an apple) or
indentifying them as already known (/’ll take the apple).
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Adjectives are words used, typically with nouns, to provide more e
information about the things referred to (happy people, large objects, a
strange experience).

) BN
A (et sl S Ao oLl i (S an) QalAEY) ) ccilalSl) g slad) G gt La LI
ddghal) g caleal) calal) cala ol g ol JaY) g calid ¢y g 3 S8 cAaalad) (A jdall o gal) bl ¢ (ada
O ) A9 ) 98 Slinal) ¢ adid o) AV A 58 G52, sadll
Ofas Ja) sl Al Ciatat Aran) Jaad) JSEE land) g 0400 (5 A 9 «f) claldll 4 el
(U 3l L) Jadlly ci g jma 98 LaS agd AiSaid gf (J BN o 5 gal) 01955 O
L) Ll s Lud¥) Jga cila glral) (e 3 3a b gl cplandl) g Bale g cdaddinial) cilalSl) A cliiall
(A8 420 B s alua¥) s lara (aldll)

Verbs are words used to refer to various kinds of actions (go, talk) and e
states (be, have) involving people and things in events (Sarah is ill and has a
sore throat so she can’t talk or go anywhere).

Y Y
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g Adverbs are words used, typically with verbs, to provide more information e g
@ about actions, states and events (slowly, yesterday) . Some adverbs (really, Q
9 very) are also used with adjectives to modify information about things Q
9 (Really large objects move slowly. | had a very strange experience Q
9 yesterday). Q
9 Prepositions are words (at, in, on, near, with, without) used with nounsin e Q
9 phrases providing information about time (at five o’clock, in the morning) , Q
9 place (on the table, near the window) and other connections (with a knife, Q
9 without a thought) involving actions and things. Q
v v
v v
v v
v v
v v
v v
v v
v v
v v
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v v
Y Y
Y Y
Y Y
v v
v v
Y Y

A (O8S «O) Jgll g (Euandl g e ll) sl aY) (pe Adlida £1 631 ) B LA addindi 5 e & JladY)
o Cuanal) adatods W L) a glad) B gl Agal g (gl pa B las) Claall B pLud¥ g (ulil) o (o shai
Osa si ) cladl
Gl a5 sl Joa cilaglaall (e 2 ey gl JadY) aa Bale 5 cAaaiinial) cilall & J)saY)
£LdY) Jsa cilaglral) Juaail ciliual) aa (1an la) J) o) (amy addind LaS  (pua) csdag) Elaa¥) g
ol 132 Ay & 4ot I S plas & A s B sl aluayl)
ila glaa aga il jlant) & slaci) fa adRiad ()98 cpa el (B (B (o) clalsll A jadl dig
s AY cLa) 5 (58U (e il A glall o) lSa ((gluall & i) dslull) e gl oo
SLaY g Jladl o (g gl A (S 0 93 ¢ CSan)

Pronouns are words (she, herself, they, it, you) used in place of noun e
phrases, typically referring to people and things already known (she talks to
herself. They said it belonged to you).

Conjunctions are words (and, but, because, when) used to make e
connections and indicate relationship between events (Dana’s husband was

40
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so sweet and he helped her a lot because she couldn't do much when she
was pregnant)

) N Bale ad cAan) Jaad) e Yoy addiad (cudl g b (guadi () ClalS A iladal)
(A (i 430 1 18 g clguuadli ) iani (A ) Ad g e £LudY) g
CulS 4308 7 93) Culan) Cya ABDlal) yad g cLal) £ Y addind (e A (Sl ¢ g) Cilaad) CilalS A
(Shala cuilS Lasie i) Jad 0 Sag ¥ 1Y 1S Lae L 400 9 1an 3 5la

Agreement is the grammatical connection between two parts of a sentence ¢
(number, person, tense, voice and gender ) as in the connection between a
subject Cathy and the form of a verb loves chocolate. (agreement in
number (singular and plural) and person)

B Jad) ga LaS (uiadl g ciguall g i gia padid cadall) Alaa (e ol Ja Om A sadl) ABDal) A (3L
(0ol g (aandl s 2 jaall) dae B UG ASY oS gd) aay Jadl) JSdig £ guda gall LS (s Juady)

First person (singular) I Iovechocolate

Second person (singular) | You Jovechocolate
Third person (singular) | He, she, if(or Cathy) | Jleveschocolate

v v
v v
v v
v v
v v
v v
\ v
v i
\ v
v v
\ v
\ v
\ v
\ v
\ v
v i
v i
\ \
\ \
\ \
z z
! Capreewn !
\ \
\ \
\ \
\ v
v \
v \
\ v
\ v
\ \
\ \
\ \
v \
\ v
v v
v v
v v
v v
\ \
v v
\ \

% Cathy is loved by her dog or Cathy is loved (agreement in tense)

agreewith

%+ Cathy is loved by her dog. (agreement in gender)
t t
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%+ Traditional analysis:

First person singular I wIite

Second person singular | You wIite

Present tense, active voice | Third person singular | He, she, 1t | wiites

First person plural e write

Second person plural You write

Third person plural They wIite

The prescriptive approach: <«

An approach taken by a number of grammarians, mainly in eighteen-century
England, who set out rules for the “proper” use of English.

el 3Y) gl
AladiLY 3o g a9 oAl ¢ e Agilal ) jilad) ¢ AN A Lasw Y g cBladll (e 23e J8 (e poiiall gl g
Aoy datl) 8 ity

Marry runs faster than me. Marry runs faster than I.

Me and my family. My family and I.

Study questions

Do exercises 1 and 3 (i and ii) in page 92.
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Lecture 7
dlaal) sl Syntax

JS 4ahudl g 48l Deep and surface structure
Ssgd) U2 9aad) Structural ambiguity o
439l Recursion o
<labial) 5 2% Tree diagrams
il Julaill 8 deadiciall ga Y Symbols used in syntactic analysis <
danaal) 201 68 Lexical rules
4 al) xo) 8 Movement rules

o,

Syntax is the study of the principles and processes by which sentences are +*
constructed in particular languages.

Adma Jaa clad ga L 5l oty Al cilaland) g (g aluall Al oh Alaall gy o
(b s sima) o) 40 Surface structure: (superficial level) o

1. Charlie broke the window (in traditional grammar it is called an active
sentence focusing on what Charlie did)

(AN Jad La o 58 5l ad gally s o 9 il 43l oo ) 6B L 8) BN s L,

2. The window was broken by Charlie. (in traditional grammar it is called a
passive sentence focusing on the window and what happened to it)

S aa ald) LaSa dle gllay Aadiil) dall) o) b B) | A LS ddau) gy BN S a3 2
(A daa Lag 520 Lo

1 & 2 have different syntactic forms. But very closely related
laa Glary A e o< Allid Ay gai JISET @12 & 1
(sba) (5 ginsall) 1 (32a JS4 Deep structure: (underlying level)

An abstract level of structural organization in which all the elements
determining structural interpretation are represented.
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1. It was Charlie who broke the window.
2. Was the window broken by Charlie?
AS) jaadl aat Al pealial) poea 4 Jiad o2 Al AT (e B3 e (5 e
BB S A S L3 oS 1

9 AL B (e B puuSa B S 2

1Sl o2 gard) Structural ambiguity:

I shot an elephant in my pajamas. (two underlying structures with the same
(st ol gy &a Ll cisa)surface structure)

1. I shot an elephant (while | was) in my pajamas
2. I shot an elephant (which was) in my pajamas
Recursion : (repeating any number of times) (< all (e 33 i ) ) 453 g2l

The gun was on the table. (create a prepositional phrase again and again)

(on the table) (near the window) (in the bedroom)
The gun was on the table near the window in the bedroom.
Cathy knew that Mary helped George.

John believed that Cathy knew that Mary helped George. (no end)

Tree diagrams: <
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Y Y
Y NP Y
Y | Y
¥ [The] [girl] ¥
Y Art N Y
Y Y
Y Y
Y Y
v W v
g PN g
= Art N =
v ‘ ‘ v
g The girl g
Y S Y
Y . Y
g NP VP g
v N / v
¥ Art N Vv NP ¥
y PN y
Y Art N v
Y ‘ ‘ Y
Y | Y
¥ The girl saw a dog ¥
Y Y
g Symbols used in ?\fntactic analysis: <+ g
@ 1ol Julatl) b dariiial) jga Q
Y Y
@ NP — ArtN ArtN Q
@ NP — Pro NP —){ Pro } NP— (ArtN, Pro, PN) Q
% NP — PN PN Q
v v
v v
v v
2 45 2
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S sentence NP noun phrase PN propernoun

N noun VP verb phrase Adv adyeb

V verb Adj adjective Prep preposition

Artarticle Pro pronoun PP prepositional phrase
Lexical rules:

{Mary, George}

|'U
2

{girl, boy, dog} N
{a,the} Art
{it, you} Pro
{followed, helped, saw} Vv
A dog Followed the boy
Movement rules:

You will help Mary --  Will you help Mary

Study Questions

Do exercises 4 and 6 in page 107
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Lecture8
Semantics
adl ol
Semantics is the study of the meaning of words, phrases and sentences
Jandl g clal€l) g ) ) ral dusd 3 g2 (laal) ale
NP Y NP

The hamburger ate the boy

Listd il (Sl cdlaa ol 93 B Alaad) o2
Since“the sentence
Adaad) Layy
The boy ate the hamburger
S et gl Js)
is perfectly acceptable

Lalad ¥ e (955

Agent and theme
£ 32 5all 5 Jalad)

The boy as ‘the
entity that performs the action’, technically known as the agent.

] e“u. -\S"“
(OS5l analy LS g Jandl! g ok a8y g3 Jalad)

the ball as ‘the entity that is involved in or affected by the action’,
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which is called the theme
daad) il gl B LS A st Ll 8 Y
Eyasn o la 929

Although agents
are typically human (The boy), they can also be non-human entities that cause

9%3 Oi On é‘p.)” u'b

ot (i o pil) e U 985 o Liagh (S g (Al 11) ey (585 La Bk

a natural force (The wind), a machine
(A car), or a creature (The dog), all of which affect the ball as theme.

Y Y
Y Y
Y Y
Y \
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y \
g M5 ol a pd ) (Se ;
¥ G A g i) s IS 585 (O Ll ¢Sy < (sl sl (155 La Bk 9 ¥
@ The boy kicked the ball. Q
@ The wind blew the ball away. Q
@ A car ran over the ball. Q
@ The dog caught the ball Q
v smal) 38N S v
g S 58N i b g
@ BN Ao B b s Q
g 580 Qi) e Gl g
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y
Y Y

The theme is typically non-human, but can be human (the boy), as in The dog
chased the boy.

Sl A LS ¢ (aall) Gl 1983 O OSan (ST gyl i Bale ga £ gua gal)
gal) @
Lexical relations
clNal) dyanaa
<Ll Words
<l Relationships

In everyday talk,
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we often explain the meanings of words in terms of their relationship
(o gal) Enaal) A
MBS G (ha clall] laa e La L2
¢\8i) Conceal

“It's
the same as hide

9&5! u-uﬁl.g-.i\"

This approach is used in the semantic description of
language and treated as the analysis of lexical relations. The lexical relationswe
have just exemplified are synonymy (conceal/hide), antonymy (shallow/deep)
and hyponymy (daffodil/flower).

H N Ca g A gl 13 ardiang
4aa24 relationswe g .Axaazall cilBdal) Jolat gl Ao Jalat g 42l
(Band) [ Adaiall) 28N ((£UiA) / sLEA1) (o) ) o Jadd Jiady g

(325 [ ¢ i) hyponymys

Synonymy
B yial) Al 3
Two or more words with very closely related meanings are called synonyms
Cilda) pall Aall (3 Al cld cilalSl) e JAS) i 0l o 3llagg

common examples of
synonyms are the pairs: almost/nearly, big/large, broad/wide, buy/purchase,
cab/taxi, car/automobile, couch/sofa, freedom/liberty.

& idial) e Al
i [ 81 g cAral g [ ) 39 S [ B S L S/ Ly 571 931 (gp B e
Agal) [ Al g 4 )1 /A Y il o) /8 o 8l B b / Adil)
Antonymy

il
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Two forms with opposite meanings are called antonyms
Cilabaial) A4all laall pa (s o llayg

alive/dead, big/small, fast/slow, happy/sad, hot/cold,
long/short, male/female, married/single, old/new, rich/poor, true/false.

A [ e Gaia [ s Ak [ Aag puag B g /8 S (e [/ a
ABd /Gl e BBl 7 2050 (Bapaa) / el caalg / g g o) / g8 cb_puad /AL gha
Hyponymy

When the meaning of one form is included in the meaning of another, the
relationship is described as hyponymy.
Examples are the pairs: animal/dog,
dog/poodle, vegetable/carrot, flower/rose, tree/banyan

cﬁiwéubé&ﬂ‘fmuﬂmﬁ&hw
.hyponymy 48all Cia g als LS
(RS /ol gad) sz g0 Al o ABY) (g

G /850 83 [ 8855 30 [ &g 4kl g S / il
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living thing

creature

|

plant

vevetable  flower tree

animal insect

e i

rose  banyan  pine

dou horse snake ant cockroach  carrot

poodle asp

v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
Y b Y
v 1 v
v v
v v
v v
v v
v v
Y v
Y v
Y v
Y v
v v
v v
v v
v v
Y Y
Y v
Y v
Y v
v v
v v
v v
\ \

Prototypes
zlad
The idea of ‘the characteristic instance’ of a category is known as the prototype.
Ll L ga 0 jlie by Ciial Gpana "Auald JULall" 5 48h (o Cig mall (a9
e clothing .S stool. &sbench &Yl Furniture
U carrot S\ vegetable sl shoes (ladd shirts

ablab tomato (bl potato

Homophones and homonyms
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When two or more different (written) forms have the same pronunciation, they
are described as homophones

Al hall) JICE Lgaal (A i) AlliAL JiS) gl () Lanic
Al L g

bare/bear, meat/meet,
flour/flower, pail/pale, right/write, sew/so and to/too/two.

csdgll [ agalll gdagaa / oY)
O [ A8 [ g [ ABLA AU / 3l b / Sla 38 5 / Caal
Polysemy
(ilral) daad

Whenwe encounter two or morewords with the same formand related meanings,
we have what is technically known as polysemy

Alal) ¢ld (udi formand (Alaall 20 morewords i (il 431 53 Whenwe

(taall s aaaly LS O yag La Ll

the object on top of your bod
A o Aaldd) Ll y Ao st

person at the top of a company or department,
and many other things

ﬁ)ﬁ\.\‘gikﬂ‘}a‘é‘gﬂﬂ\ f—j@i\éuﬁ&ﬂ\
BS s Al sladiy
run mountain bed person Foot

person does, water does, colors do

Al o)) 11 g slall ¥ Y el
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Word play
call) dalS

Mary had a little lamb, we think
of a small animal, but in the comic version Mary had a little lamb, some rice
and vegetables, we think of a small amount of meat. The polysemy of lamb
allows the two interpretations

Aiad cad g cglial) BB S oy 5
I G colall S S (5 e b guaal) Adil) L& (S g (B dual) il giadl (e
ol pal ¢ Alaall 223 g 2 galll (1 8 yhua dpaS (B Shig il g i)
Metonymy
Supal) Jlaiall 5f Alisty

The relatedness of meaning found in polysemy is essentially based on similarity.
The head of a company is similar to the head of a person on top of and controlling

Y Y
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
@ the body Q
g ALEd) e Slaal) a8 Caa g aal) L) e Lulad atiag g g
> Bobaaall g (al ) (o padd () Ay A8 i s =
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
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v v
v v
v v
v v
v \

pcal)

There is another type of relationship between words, based simply on
a close connection in everyday experience. That close connection can be based
on a container—contents relation (bottle/water, can/juice), a whole—part relation
(car/wheels, house/roof) or a representative—symbol relationship (king/crown,
the President/the White House). Using one of these words to refer to the other
is an example of metonymy

& Adlasn L jia g cilalS) Gy ABMaY) (e AT £ i Sllia
488 g aual) 138 aaial o)) (Say ¥ Aa gl 4l B AR g ABDe
Jals & 3l Ao ((uas [ Sayg colall / Aala ) Agglad) il iae A e
agadl Ao/ Alall) Jadl-Jiaa Ble i (i / 300 el jdal /3 )
AL Jlia AN ) 5 Ladd cilalsl) 03a ¢pa Bl 5 aladiady  (O2an) Cusd) [ G S

Shooshoo alsharaf
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lecture 9
Pragmatics
Pragmatics: e
pragmatics is the study of what speakers mean, or “speaker meaning,”

"y AlSial) M gf ¢ paalSiall (A La Al 3 g8 Al

In many ways, pragmatics is the study of “invisible” meaning, or how we recognize
what is meant even when it isn’t actually said or written. In order for that to
happen, speakers (or writers) must be able to depend on a lot of shared
assumptions and expectations when they try to communicate. The investigation of
those assumptions and expectations provides us with some insights into how more
is always being communicated than is said.

L Latie a3 gualiall g La & a8 G gl ("Ai ja pf " el Al ) Ailad ) ) ga B S A gi B
adiad o a8 4 6 O ) GUSH i (<gaall @l S (el Guaag o Jal (e, S 51 JB a1 1) B o
il i) Al A gadadl), Jual gill 4 glaa Lgdl die cilad gil) § AS jidial) cilial j8Y) e il e
I Laa Lgbua g 5 o Laila ga ST 4488 3 JLSBY) (aany Ua g 3y e il

read the sign, knowing what each of the words means and what the sign as a whole
means. However, you don’t normally think that the sign is advertising a place where
you can park your “heated attendant.” (You take an attendant, you heat him/her
up, and this is where you can park him/her.) Alternatively, the sign may indicate a
place where parking will be carried out by attendants who have been heated.

it La JS 4B a9 ¢ Aadlal) Bp1 8 dliSay, 3y guall B aa) g Jla S dadle LES 8 il el G jay BaLE

OS dliSay dun Ll (Bley) sa Aadlal) o) bale dliSay A Y (dlld aa g, AlalS Al 5S Aadle Lo g cilall)

(Al e Yy, ) A 08 iy a1 38 g L/l (i g cialiay 34 dliSay, (Ldlu "Laladl) dy Galdl)
A a1 3B cpdl) LB Lgale G pdd AN Gl ) i gh g A Cua (1S Aadlad) ) pady 3B

The words in the sign may allow these interpretations, but we would normally
understand that we can park a car in this place, that it’s a heated area, and that
there will be an attendant to look after the car.

2.“51:3.40& (Olsal) \hgésJQuQSJMmisdbe@SQﬂjcﬁ\M\ OMMQLM\QASJW\
LB badly Alinl) A88) o LA () 9S0 AST g ASALu

So, how do we decide that the sign means this when the sign doesn’t even have the
word car on it? We must use the meanings of the words, the context in which they
occur, and some pre-existing knowledge of what would be a likely message as we
work toward a reasonable interpretation of what the producer of the sign intended
it to convey.
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A o) Guan g S e word Bl sia dllay Y dadlal) die dadlad) 138 ay o)) 8T 0 LiiSay S (Y
Saiaal) Al 3980 o) Sas Lad S8 (1 33 9 gl i jlaall (lany g cdd Gl oA Glaadd) g clalSl) Jlaa b
S Of Gld Ladlad) e 4y dualy Lal J glna yaadli gad Jand (ad

Our interpretation of the “meaning” of the sign is not based solely on the words, but
on what we think the writer intended to communicate.

el 53ll 3 gualal) GuilSl) Ay S5 Le o (g cclal) o JaB o g8y Y Addlall" | ne MU pad

@uContext e

In our discussion of the last two examples, we emphasized the influence of context.
There are different kinds of context. One kind is described as linguistic context, also
known as co-text.

Chag gh dalg o, led) (e ddlida £ g dlia g, Glad) Ll e Las] (ollial) AY Liddlia 8
LaS ‘43513\ él,y.dls
(a0 6 analy 48 g jaeal)

The surrounding co-text has a strong effect on what we think the word probably
means.

L Anaall ok o8 W g, Alaad) g 5 laad) (udl B deadinal) 5 AY) CilalSl) de gana A AalS Cunk oS
Al ey U e | La o o g8 il

In the last chapter, we identified the word bank as a homonym, a single form with
more than one meaning. How do we usually know which meaning is intended in a
particular sentence? We normally do so on the basis of linguistic context.

S ) Bale el L s, ST gl a5 ran 3 ke 2 gad Adlae Al i) Usaa ¢ 3 Juadll) A g
L S Ghd) Galud o @ty alEY) Bale (ad g $Auald dday b 3 gaailal)

If the word bank is used in a sentence together with words like steep or overgrown,
we have no problem deciding which type of bank is meant. Or, if we hear someone
say that she has to get to the bank to withdraw some cash, we know from this
linguistic context which type of bank is intended.

Bant A Ll g dadiata gh dla e cilal) ae quia ) Lia Alaa B 4K Sli) aladiiad ady 1S 1)
Ot i Ui paal) ) J gea sl Ll 0 J g adaa aad ¢ad 1) ¢ gl, bl (e £ 63 (51 (0 3 gualall
Al (e £ 58 o) Maly g8 o gl Flanad) 138 (e g Cad g 2 gl
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More generally, we know how to interpret words on the basis of physical context. If
we see the word BANK on the wall of a building in a city, the physical location will
influence our interpretation.

s kel (Blasd) Guladd o clalSl) padl A4S G (ad a3 puang
L aadl g alal) Sl Sigia dida A e laa el dalS o 3 LS 1Y)

While this may seem rather obvious, we should keep in mind that it is not the actual
physical situation “out there” that constitutes “the context” for interpreting words
or sentences. The relevant context is our mental representation of those aspects of

what is physically out there that we use in arriving at an interpretation.
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Our understanding of much of what we read and hear is tied to this processing of
aspects of the physical context, particularly the time and place, in which we
encounter linguistic expressions.

Ao gl el il
Deixis o

There are some very common words in our language that can’t be interpreted at all
if we don’t know the context, especially the physical context of the speaker. These
are words such as here and there, this or that, now and then, yesterday, today or
tomorrow,
as well as pronouns such as you, me, she, him, it, them.

Lo ¥ laedl i ad Y i 13) (DY) o il (0 San W () LiiaY (8 Ty Aadlil) clalSl) lamy ellia
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Some sentences of English are virtually impossible to understand if we don’t know
who is speaking, about whom, where and when. For example: You’ll have to bring it
back tomorrow because she isn’t here today.

i 8, g O pipins (8 a5 i ¥ 13 g nional) Ly 5 Ty B0a ) Bl (omy
0l L ol 9 132 35y il L ¢ gousr JEAD
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Out of context, this sentence is really vague. It contains a large number of
expressions (you, it, tomorrow, she, here, today) that rely on knowledge of the
immediate physical context for their interpretation

(Ll B )ad cagle g cell (i) o S s o (g giag 4], Adaals Gia Alaad) o2 (Galed) z A
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(i.e. that the delivery driver will have to return on February 15 to 660 College Drive
with the long box labeled “flowers, handle with care” addressed to Lisa Landry).

raeall Ay gh 2 ya pa 43S ) BY) & (10 660 () sl /e 15 (A B gl Llluay) (bl i s
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Expressions such as tomorrow and here are obvious examples of bits of language
that we can only understand in terms of the speaker’s intended meaning.
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All these deictic expressions have to be interpreted in terms of which person, place
or time the speaker has in mind. We make a broad distinction between what is
marked as close to the speaker (this, here, now) and what is distant (that, there,
then). We can also indicate whether movement is away from the speaker’s location
(g0) or toward the speaker’s location (come).
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If you’re looking for someone and she appears, moving toward you, you can say
Here she comes!. If, however, she is moving away from you in the distance, you’re
more likely to say There she goes!. The same deictic effect explains the different
situations in which you would tell someone to Go to bed versus Come to bed.

sy ¢ s L 031, (30 gl L J 80 i€ el bty o o gl g g e i o duag S 1))
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Reference o

In discussing deixis,
¢ deixisiddlia B
we assumed that the use of words to refer to people, places and times was a simple
matter. However, words themselves don’t refer to anything. People refer. We have
to define reference as an act by which a speaker (or writer) uses language to enable
a listener (or reader) to identify something.

ClalS) (D aa g, Adasuy Allna cuilS cld gl g cSal aldil ) 5 LA 3 e aladiad of (i by ol
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To perform an act of reference, we can use proper nouns (Chomsky, Jennifer,
Whiskas), other nouns in phrases (a writer, my friend, the cat) or pronouns (he, she,
it). We sometimes assume that these words identify someone or something
uniquely, but it is more accurate to say that, for each word or phrase, there is a
“range of reference.” The words Jennifer or friend or she can be used to refer to
many entities in the world.

@5}3’\ QM‘\JU ‘)wumgj c‘)ﬁ..,\.'i@ ‘Wﬂ(@u&t f—LAuY‘PMQ\QSAg ‘&J‘C}‘M?w
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As we observed earlier, an expression such as the war doesn’t directly identify
anything by itself, because its reference depends on who is using it.

We can also refer to things when we’re not sure what to call them. We can use
expressions such as the blue thing and that icky stuff and we can even invent names.
a gl o aalng e o Ll O cAdld ang oo (g a0 8 pilia ¥ quad) Jia Uil LAY LaS
R PYKE
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For instance, there was a man who always drove his motorcycle fast and loud
through my neighborhood and was locally referred to as Mr. Kawasaki. In this case,
a brand name for a motorcycle is being used to refer to a person.

(Sl S sl g (gly (A Bk (8 IS g g Ay e A L) Al 2y LA S ¢ JUal) S Sad
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NiYInference e

As in the “Mr. Kawasaki” example,
" Sl 518 ) ") B Jlad) g LS

a successful act of reference depends more on the listener’s ability to recognize
what we mean than on the listener’s “dictionary” knowledge of a word we use. For
example, in a restaurant, one waiter can ask another, Where’s the spinach salad
sitting? and receive the reply, He’s sitting by the door.

" ugald M aaial) o e dpind La o Gl e 8 aRl) aaieal) o ST daiag aa e (e daqli Jas
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If you’re studying linguistics, you might ask someone, Can | look at your Chomsky?
and get the response, Sure, it’s on the shelf over there.
& Jgaall gty Qaldl) Saa gl B BT o) (Say e padid Jlud 3B ccilyibadl) (g i S 1)
(a (e ST Giall e gl aS3al (e g i)

to refer to people, and use names of people (Chomsky) to refer to things. The key
process here is called inference.

coalill ) B La) Ualas (el Aat yal) plamd) aladiind (e (el Of gudal g1 (e Jnad ALiaY) 028
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An inference is additional information used by the listener to create a connection
between what is said and what must be meant. In the last example, the listener has
to operate with the inference: “if X is the name of the writer of a book, then X can
be used to identify a copy of a book by that writer.”

0552 O g Lag JWy La (s Jlaaail o LERY aaionall 8 (o dadiiinall AdLaY) il glaal) Y ady
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Similar types of inferences are necessary to understand someone who says that
Picasso is in the museum or We saw Shakespeare in London or Jennifer is wearing
Calvin Klein.

SO A i Uaald gl ciadall A gl o J o8y (il agdl 4y gy cilaliiin) (e Alilas g1 5
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Anaphora e

59

Y Y
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
g These examples make it clear that we can use names associated with things (salad) ;
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
v v
Y Y
Y Y
Y Y
| |
VYV VPV VYV VYV VYV YVYYFYYVYYVYYYVVYY



\ARAREARERERRERERRENREEERSEENRE

We usually make a distinction between introducing new referents (a puppy) and
referring back to them (the puppy, it).

Cabialle
)L e ol (ad ) s AT Bua JLal g ) o (Buta il e JUA) (i sl £102) Bale (g

We saw a funny home video about a boy washing a puppy in a small bath. The
puppy started struggling and shaking and the boy got really wet. When he let go, it
jumped out of the bath and ran away.

M@A\J}@Jb@&&iq‘gﬁi,)@A?MQAJJ@M\W,&Mdj&d\xdﬁlﬁ&hﬁﬁ
1AL 53 g alaad) e 388 i Al J Ladie, W Gl )

In this type of referential relationship, the second (or subsequent) referring
expression is an example of anaphora (“referring back”). The first mention is called
the antecedent. So, in our example, a boy, a puppy and a small bath are antecedents
and The
expressions.
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When we use a referring expression like this, he or Shakespeare, we usually assume
that our listeners can recognize which referent is intended. In a more general way,
we design our linguistic messages on the basis of large-scale assumptions about
what our listeners already know. Some of these assumptions may be mistaken, of
course, but mostly they’re appropriate. What a speaker (or writer) assumes is true
or known by a listener (or reader) can be described as a presupposition.

S g sall o G il ¢Say Uinalins ¢f Bale G 880 ¢ puaaiii ol JB 138 Jia jady et addiied Ladie
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If someone tells you Your brother is waiting outside, there is an obvious
presupposition that you have a brother. If you are asked Why did you arrive late?,
there is a presupposition that you did arrive late. And if you are asked the question
When did you stop smoking?, there are at least two presuppositions involved. In
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asking this question, the speaker presupposes that you used to smoke and that you
no longer do so.
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Speech acts o

We have been considering ways in which we interpret the meaning of an utterance
in terms of what the speaker intended to convey.

We have not yet considered the fact that we usually know how the speaker intends
us to “take” (or “interpret the function of”) what is said. In very general terms, we
can usually recognize the type of “action” performed by a speaker with the
utterance. We use the term speech act to describe actions such as “requesting,”
“commanding,” “questioning” or “informing.” We can define a speech act as the
action performed by a speaker with an utterance. If you say, I’ll be there at six, you
are not just speaking, you seem to be performing the speech act of “promising.”
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Direct and indirect speech acts e
sall i 5 sdlsall pNL Juadi

We usually use certain syntactic structures with the functions listed beside them in
the following table.

AN Jgaadl A agd ) g2 B g peaal) 1Al aa 4 gail) JSLA (ylany adid Bale

Structures Functions
Did you eat the pizza? Interrogative Question
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Eat the pizza (please)! Imperative Command
(Request)
You ate the pizza. Declarative Statement

When an interrogative structure such as Did you...?, Are they...? or Can we...? is used
with the function of a question, it is described as a direct speech act. For example,
when we don’t know something and we ask someone to provide the information,

we usually produce a direct speech act such as Can you ride a bicycle?.
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Politeness e
Bl e
We can think of politeness in general terms as having to do with ideas like being
tactful, modest and nice to other people. In the study of linguistic politeness, the
most relevant concept is “face.” Your face, in pragmatics, is your public self-image.
This is the emotional and social sense of self that everyone has and expects
everyone else to recognize. Politeness can be defined as showing awareness and
consideration of another person’s face. If you say something that represents a
threat to another person’s self-image, that is called a face-threatening act. For
example, if you use a direct speech act to get someone to do something (Give me
that paper!), you are behaving as if you have more social power than the other
person.
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If you don’t actually have that social power (e.g. you’re not a military officer or
prison warden), then you are performing a facethreatening act. An indirect speech
act, in the form associated with a question (Could you pass me that paper?),
removes the assumption of social power. You’re only asking if it’s possible. This
makes your request less threatening to the other person’s face. Whenever you say
something that lessens the possible threat to another’s face, it can be described as a
face-saving act.
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Negative and positive face e
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We have both a negative face and a positive face. (Note that “negative” doesn’t
mean “bad” here, it’s simply the opposite of “positive.”) Negative face is the need to
be independent and free from imposition.

42 801.") (ol " S Ay Ll (LAY A " i Y A " Y, (o) A 95 (il g Ll
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Positive face is the need to be connected, to belong, to be a member of the group.
So, a face-saving act that emphasizes a person’s negative face will show concern
about imposition (I’'m sorry to bother you...; | know you’re busy, but...).
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A face-saving act that emphasizes a person’s positive face will show solidarity and
draw attention to a common goal (Let’s do this together...; You and | have the same
problem, so...).

U (& e chan ) olily) cuil g (addll o) da gl o 2080 pla (Jad (pabiail) lghi) Al
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Good luck .. shush

LecturelO

Discourse analysis.
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. eladl) Jalas

Meaning:
Cohesion: <
Coherence: <
Speech events:
Conversation analysis: **
Co-operative principle: <*
Hedges: <
implicatures: <+
Background Knowledge: <*
Schemas and scripts: <*
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When we ask how we make sense of what we read, how we can recognize
well constructed texts as opposed to those that are jumbled or incoherent,
how we understand speakers who communicate more than they say, and
how we successfully take part in that complex activity called conversation,
we are undertaking what is known as discourse analysis.
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Cohesion:
We know, for example, that texts must have a certain structure that
depends on factors quite different from those required in the structure of a
single sentence. Some of those factors are described in terms of cohesion,
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or the ties and connections that exist within texts. A number of those types
of cohesive ties can be identified in the following paragraph.

My father once bought a Lincoln convertible. He did it by saving
every penny he could. That car would be worth a fortune nowadays.
However, he sold it to help pay for my college education. Sometimes I think
I’d rather have the convertible.
There are connections present here in the use of words to maintain
reference to the same people and things throughout: father — he — he - he;
my — my - |; Lincoln —it. There are connections between phrases such as: a
Lincoln convertible — that car — the convertible. There are more general
connections created by a number of terms that share a common element of
meaning, such as “money” (bought — saving — penny — worth a fortune -
sold — pay) and “time” (once — nowadays — sometimes). There is also a
connector (However) that marks the relationship of what follows to what
went before. The verb tenses in the first four sentences are all in the past,
creating a connection between those events, and a different time is
indicated by the present tense of the final sentence
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Analysis of these cohesive ties within a text gives us some insight into how writers
structure what they want to say. An appropriate number of cohesive ties may be a
crucial factor in our judgments on whether something is well written or not. It has
also been noted that the conventions of cohesive structure differ from one
language to the next and may be one of the sources of difficulty encountered in
translating texts. However, by itself, cohesion would not be sufficient to enable us
to make sense of

what we read. It is quite easy to create a highly cohesive text that has a lot

of connections between the sentences, but is very difficult to interpret. Note that

the following text has connections such as Lincoln - the car, red — that color, her -
she, letters — a letter, and so on.
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My father bought a Lincoln convertible. The car driven by the police was red. That
color doesn’t suit her. She consists of three letters. However, a letter isn’t as fast as
a telephone call

L, Ll ¥ sl 138 ) pand) Adn piid) Lo gy AZiia B jlaes cllS, o 9Sid By gatill AL Al g (5 30
Al dallSa Ao pudly Cod Al ) (1 (IS pa g, pad AN (e ¢y 9SS

It becomes clear from this type of example that the “connectedness” we
experience in our interpretation of normal texts is not simply based on
connections between the words. There must be some other factor that leads us to
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distinguish connected texts that make sense from those that do not. This factor is
usually described as “coherence.”
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Coherence:

The key to the concept of coherence (“everything fitting together well”) is
not something that exists in words or structures, but something that exists in
people. It is people who “make sense” of what they read and hear
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Speech events

In exploring what it is we know about taking part in conversation, or any
other speech event (e.g. debate, interview, various types of discussions), we
quickly realize that there is enormous variation in what people say and do in

we would have to take account of a number of criteria. For example, we would
have to specify the roles of speaker and hearer(or hearers) and their
relationship(s), whether they were friends, strangers, men, women, young, old, of
equal or unequal status, and many other factors. All of these factors will have an
influence on what is said and how it is said. We would have to describe what the
topic of conversation was and in what setting it took place.
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Conversation analysis:

In simple terms, English conversation can be described as an activity in
which, for the most part, two or more people take turns at speaking. Typically,
only one person speaks at a time and there tends to be an avoidance of silence
between speaking turns. (This is not true in all situations or societies.) If more than
one participant tries to talk at the same time, one of them usually stops, as in the
following example, where A stops until B has finished.

A: Didn’t you [ know wh-
[ But he must’ve been there by two B:

A: Yes but you knew where he was going
:&.\M\ ‘_ths
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For the most part, participants wait until one speaker indicates that he or she has
finished, usually by signaling a completion point. Speakers can mark their turns as
complete in a number of ways: by asking a question, for example, or by pausing at
the end of a completed syntactic structure like a phrase or sentence. Other
participants can indicate that they want to take the speaking turn, also in a
number of ways. They can start to make short sounds, usually repeated, while the
speaker is talking, and often use body shifts or facial expressions to signal that they
have something to say.
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Co-operative principle:

The co-operative principle is stated in the following way: “Make your
conversational contribution such as is required, at the stage at which it occurs, by
the accepted purpose or direction of the talk exchange in which you are engaged”

(Grice, 1975: 45). Supporting this principle are four maxims, often called the

“Gricean maxims.”
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The Manner maxim: Be clear, brief and orderly.
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Hedges:

We use certain types of expressions, called hedges, to show that we are
concerned about following the maxims while being co-operative participants in
conversation. Hedges can be defined as words or phrases used to indicate that
we’re not really sure that what we’re saying is sufficiently correct or complete. We
can use sort of or kind of as hedges on the accuracy of our statements, as in
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descriptions such as His hair was kind of long or The book cover is sort of yellow
(rather than It is yellow). These are examples of hedges on the Quality maxim.
Other examples would include the expressions listed below that people sometimes
put at the beginning of their conversational contributions.

As far as | know ...,
Now, correct me if I’'m wrong, but ...
I’m not absolutely sure, but ....

We also take care to indicate that what we report is something we think or
feel (not know), is possible or likely (not certain), and may or could (not must)
happen. Hence the difference between saying Jackson is guilty and I think it’s
possible that Jackson maybe guilty. In the first version, we will be assumed to have
very good evidence for the statement.
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implicatures:

CAROL: Are you coming to the party tonight?
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LARA: I’'ve got an exam tomorrow.
ol Qe
AL i hal) ) adld i Ja : Jg s
LN glatia) gaie Ul LARA
On the face of it, Lara’s statement is not an answer to Carol’s question. Lara
doesn’t say Yes or No. Yet Carol will immediately interpret the statement as
meaning “No” or “Probably not.” How can we account for this ability to grasp one
meaning from a sentence that, in a literal sense, means something else? It seems
to depend, at least partially, on the assumption that Lara is being relevant and
informative, adhering to the maxims of Relation and Quantity. (To appreciate this
point, try to imagine Carol’s reaction if Lara had said something like Roses are red,
you know.) Given that Lara’s original answer contains relevant information, Carol
can work out that “exam tomorrow” conventionally involves “study tonight,” and
“study tonight” precludes “party tonight.” Thus, Lara’s answer is not simply a

statement about tomorrow’s activities, it contains an implicature (an additional
conveyed meaning) concerning tonight’s activities.
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Background Knowledge:
John was on his way to school last Friday.
He was really worried about the math lesson.
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Most people who are asked to read these sentences report that they think John is
probably a schoolboy. Since this piece of information is not directly stated in the
text, it must be an inference. Other inferences, for different readers, are that John
is walking or that he is on a bus. These inferences are clearly derived from our
conventional knowledge, in our culture, about “going to school,” and no reader has
ever suggested that John is swimming or on a boat, though both are physically
possible, if unlikely, interpretations.

An interesting aspect of the reported inferences is that they are treated as
likely or possible interpretations that readers will quickly abandon if they do not fit
in with some subsequent information. Here is the next sentence in the text.

Last week he had been unable to control the class.

On encountering this sentence, most readers decide that John is, in fact, a
teacher and that he is not very happy. Many report that he is probably driving a car
to school.
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Schemas and scripts:
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Trying not to be out of the office for long, Suzy went into the nearest place,
sat down and ordered an avocado sandwich. It was quite crowded, but the service
was fast, so she left a good tip. Back in the office, things were not going well.
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On the basis of our restaurant script, we would be able to say a number of things
about the scene and events briefly described in this short text. For example,
although the text doesn’t have this information, we would assume that Suzy

opened a door to get into the restaurant, that there were tables there, that she ate

the sandwich, then she paid for it, and so on. The fact that information of this type
can turn up in people’s attempts to remember the text is further evidence of the
existence of scripts. It is also a good indication of the fact that our understanding
of what we read doesn’t come directly from what words and sentences are on the
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